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1) 20. 28
15)20. 70

i) %

) 16. 32
1E)16. 42
) 20. 26
i) 20. 50
2)20.74

301/ Mt B B 1 (W 3 A B9)22.99

26145 L 41 (F %) Ri5
13048 BE 4 5% 1 (kA 4R ) ki
( +0.7 m)

75Es A AR (M 79)15. 28
255815 &A1 (S A4 18)16. 14
1452 I§F 18 221 () 17,32
831 BF Bl (A —)18.74
179K 5 [F 151 G i) 19. 01
157 A& 1 (& )19, 91
WE B H1UE -y aE,



4 AN

1y 3

1 207950 #kth 1 (L ) et O
2 T5& K A1 Gk ) 15.28 +0.7
3 9EHE B (G £)15.53 +0.5
4 TTRAE SEEER L (B Kk 42)15.85 0.1
5 3 iE m M1 (W [)16.13 +0.5
6 18342 11 41 1 (K %1)16.14 —0. 1
7 B KA1 S f 48)16.14 +0.7
8 253 &£ i1 CGE (1 F)16.32 +1.5
BF24 110mHI[0.914m] R (T4R)
[148] ( +1.0 m)

1041 21776 38 25 46 2 (L )15, 21

2[ 3] 1834k BF K2 (K i) 18. 35
3[ 6] 2731 JIl 2 (F 7)18. 85
A0 7] 3031L H A 2 (K ¥ 19. 82
5[ 2] 10130 B &5 2 (& i) 20. 39
6[ 5] 1158 JII  #H2 (& 4 %)22.95
70 8] 1054 [ T2 (- & [)23.89

[ 1] 799 B g B2 G T) &5
[3#8]) ( +0.5 m)

1071 89Kk Fidi2 (H B 91614
2[ 8] 301/ Ak M 2 (W 3 A B)17.18

3[ 2] 18BIKF BEVREL 2 (7 J50) 18. 41

4 3] 15704 I i g 2 (& R)19. 30
5[ 6] 26354 wmoA20N 4 KE)19.82
6[ 5] 28335 BEKEL2 (78 A  46)19.99
7041 21346 i #E 3k 2 GROWS /22083
[548] ( +1.2 m)

1[8] 3159 (1 & K2 (GK #7)16. 96
20 5] 29975 | & A2 (- #7 )18, 44
3[ 6] 1278 #F b2 (= - JB)18.97
AL 7] TI¥EA WEEE2 G5 7 )11)20.20

[ 2] 2504 H 342 (K 1E) K15

[3] 186 & E2(H ) %1%

[ 4] 181 KAMRE Bk 2 (B & &)X
[7#8] ( +1.2 m)

10 4] 203K F {2 (i 1) 17. 00
20 7] 25501 F B2 (R #)19. 63
3[ 5] 2614F 4% Znih 2 (F 1) 20. 20
A0 3] 3K E B K2 (W i) 20. 44
5[ 2] 1450 £ 3% K 2 (I £)23. 25

[ 8] 19BN Bik 2 (Fr & 2 ) arhEie

[ 6] 1437k W %2 (&

) Ri5

[248] (  +0.4 m)

10 3] 29176 165 1 = 2 (I H) 15. 92
20 2] 49F B T2 (BE IR 5 M)16.66
3010 123/ RiE2 (& FE (L)18.19

[ 5] 249K M Hi 42 (] ) 758

[ 8] 671LA BB K2 (f-fH2 K EhEE
[4] S5kM Jde Gk ) RiB
[6] 8375 £ M2 @A )RS

[ 7] 63 [ M AL2 (1% M) &5
[‘H’*ﬂ] ( +1.4 m)

103] 2208 A =2 (& £1)19. 68
20 5] 9p M M2 (F 12)20. 23
3[6)] 214 M Eo2GE B [m)21.03
40 4] 18725 f MW 2 (i HT) 26. 82

[ 2] 201988 HEA 2 (& - M 4 RS

[ 7] 253K #HMB2 G 1L )RS

[ 8] 17948 3 3k A2 (i ) K15
[6%8] (  +0.5 m)

104] 914k ® =2 GL W &)17 1
20 8] 161/9 0 B +2 (K i#)19. 39
307 99m 4 K2 @+ A 419,90
40 2] 2397 11 MR 2 (B A 1 A)20.26
5[ 5] 2790 #5 @ k2 (E 45 20. 39

[ 3] 2455 k2 {5 k2 (Il 79) RiB

[ 6] 24THb (L B4 9 2 (&5 ) &5

4> AN
] TR e |

1 2077 3R 54 2 (L ) 15.21 +1.0
2 2918 W HE b2 (i )15, 92 +0. 4
3 89E K FIH2(H B [9)16.14 +0.5
4 49+ B OFF2 (BE i & MH)16.66 +0.4
5 315 (1 & k2 GR ) 16. 96 +1.2
6 203K F B {2 (f 11)17.00 +1.2
7 01 EE2GL L A)1T.11 +0.5
8 301/ Ak 1 2 (0 F A B)17.18 +0.5



EF14 100m REEN34E)

[148] ( -0.9 m) [248] ( -1.6 m)
10611033k &K 7K1 (& 3 [H B13.27 107 1/ ZHELGh %) 13. 51
2[ 2] 307#E A = TE1 Gk ) 14. 63 20 1] 258 A #Hk&HE1OS A #5)14.36
30 5] TR K1 @ K &)14.79 3081 293k #  JR1 (P Fn H)15.24
40 3] g AR A1 GR £)14. 84 41 6] 2950 ¥ 1 (R 2% [)15.36
504] 263t H ¥ 31 (%% ) 15. 33 505] 221 K (=& 1 (F ¥ = ¥)15.52
6[ 1] 1615 HE A1 (K )16.15 6 4] 4981 A 321 (B ¥ 35 mM)15.96
707] 994 i E1 (R + &7 )16.47 70 3] 2093 )11 ¢ HE1 (P - k25 1) 16. 78
8[ 8] 23%FEH Hm#1(CGE H £)16.60 [ 2] 2518 #&&mAa1 (FE W #) RIS
[3#48] (  -2.9 m) (448 ( -2.0 m)
1[05] 514 % #IE1 (K J5)13.85 102] 217 e FE#E 1 (1 M) 14.19
203] 198 A HME1I(YSF JH)14.77 20 1] 21371 &5 B 1 COF F)14. 41
3L 4] 1238 £P1 (&£ & 11N15.10 3L 6] 139 [ #jJy1 (E A R k) 14.66
47 2] bSE K ZEF 1 CR #)15. 31 41 7)1 N5KRE HaAk1 (B 7 %)15.49
507] 1/hHk EmE1 (& #)15. 51 5[0 3] 1513 W M 321 (FF )t & —)15.61
6[ 6] 611~ AR L1 (OF %) 16. 34 6 5] 1454% % %% 251 () k)15. 97
70 1] 183)I [ K1 (K 1) 16. 96 10 4] 12TR A ZFH 1 (= - JH)16.19
8 8] 129 il P& 3 1 (FAA LA 1)20. 18 8[ 8] 253¢n AR HAH IR 1 (B b H)16.29
[54H]) ( -2.2 m) [6%H] ( -1.1 m)
10 4] 26195 i 1 (7 #%)13. 80 10 7] 22925 7k (R E)14.03
2[ 3] 2438 )11 fEF1 G 7 IR)14.56 2[ 2] TMdER A#FE1 (B &k 2)14.91
3L 8] TN 31 O > JIN14.90 3L 1] 291F J/ B 51 (] HE)14.93
47 6] 1658 H &1 (& ) 15. 04 40 8] 79 EE M1 (38 T)14.97
502] 131 H w1 & 15)15.17 5[3] 3094 v+ H mM 1 (M #)15. 31
6[ 5] 10105 A B &1 (& ) 15. 66 6[ 5] 313k H HEHE 1 ( WA #4)15.52
70 1] 169°F % m-#E1 (8 & JO16.27 1706] AAFMH PE1CGL b H)15.69
81 7] 223k # B A1 (% 7= 1 5)16.63 [ 4] 10786k BT E 1 (& - WS
[7#8] ( -2.6 m) [848] ( -0.5 m)
108] 9745 5F T H 1 (& %) 14. 08 1[5] 105008 H5 1 (E & H)14.50
2[ 3110155 K F B 1 (1 T 2 B2) 14.83 2011193 =% H¥*1 (& ) 14. 54
3[ 711021/l K FH 1 (B3I 14. 93 3L 6] 267K 11 & L1 (& W) 14. 71
40 5] 2032 H & %1 (F () 15. 21 A0 8] 271 b B& %1 (Bk #£)14. 83
50 2] 301 # 2« AR 1 (W 37 A& B9)15. 27 5[ 4] 1594=/AfM FEAE 1 O #) 15. 01
6[ 411003 FEEE 1 (B9 H % Be) 16. 04 6 2] 21/ H HIEEF 1T G & [)15.29
70 6] 305 %5 A 1 (78 %)16. 17 70 3] 249+ (i A1 Ol 1) 16. 24
[ 1] 265¢ ik #E H 1 (& H) &5 [ 711037 F = #E 1 Gk M % B X5
[9%H] ( -1.4 m) [104H]) ( -1.6 m)
10 2] 2419 8% &5 & 1 (R JI)13. 98 107 9Kk A1 G FE)14. 21
2[ 3] 17985 K #5321 G fH)14.48 20 5] TSH A LoaE 1l (B FE) 14. 62
3[ 8] 259/hF #:E 1 (K 1F)14.92 3L 3] N7k ML 1 U7 BF 2 J7)15.06
47 4] 3 W HE A1 G ) 15. 23 4[ 8] 29974 2 K1 (k fix H)15.68
5[0 5] 35f#E5L U 1 (& #3)15. 37 504] 2137 T=1 @8 4 JI)15.86
6[ 1] 6948 F & &1 Ok ) 15. 46 6[ 2] 3034t )1l A5 A 1 (& ") 16.53
TL 7] 24756 )11 A e 1 (BB ) 15. 58 [ 6] 33&FH A WEE 1 (& H) &5

8L 6] 1778 & ¥ 1 O 45)16. 40



-0.4

[1148] ( -1.4 m) [1248] ( m)
1071 315k FHiL1 GR ¥)14. 44 10 8] 2019 K fE 321 (e - W 2)14.60
20 8] 283/~ L1 (A K 45 14.56 20 5] 1814 H 31 (H #F H)14.65
3[ 6] 185=%F HIF1 (1% J)14. 59 3L 4] 281 1L 4 1 O ) 14.85
40 4] 83E B M PI1 A —)14.80 40 3] 187T1L /P £ ZF1 (8 m1)15.12
50 3] 213¢h K A1 CGE M J5)15.24 507 67/hJR B FE1 (- A )15, 51
6[ 2] 1558 £ AL 1 Uh m)15. 71 6[ 6] 1438 H FE ML 1 ( i )15.76
[ 5] 14157 H 221 (IR ) Ri5 70 2]1017 4 - & BEKY 1 (8 &= 4 1)16.87
(13481 ( -1.8 m) fox
VL 3J1009A i e 21 (H 1417 110331 A {1 (& ¢ [ 113,27 -0.9
20 8] 298kl BRMLL (B A)14. 41 2 U B GH 513,51 1.6
3[ 7] 1738k W W1 (% Fl 4)14.87 3 61 M1 (o iSrebeuie
o U I £)13.80 -2.2
40 5] 578 ™M 1 (K ¥0)15.78 4 514 W A1 (K £)13.85 -2.9
5[2) 255 42 k1 (L BDI6.82 ¢ o moa ) (o 13 98 1.4
60 6] 24507l SeaefE 1 (- JIl 74)16.09 6 22045 & Bl (& £2)14.03 1.1
TL4) M9 £0AH 1 (G 228 BT84 “goiiwe g (n #1408 2.6
81009 A i Mt H 1 (H #)14.17 -1.8
TF24F 100m REE(248)
[14#8]) ( -2.9 m) [248] ( -1.5 m)
10 1] 217F 05 #j 322 (1 M) 12. 67 10 8] 265(1[H »iFx2 (& H)13. 37
20 8] 3Kk iE P2 (¥ 1) 15.00 20 6] 1948 2=ZF2(YSF JH)14.16
3L 7] 1HRIKF ZEEJ2 GhH %) 15. 03 3[ 3] 618 v=vh 2 (GF #)14. 36
40 5] 2= b2 (G B E)15.35 A0 7] 267G & \\WTe 2 (& W) 15.13
5[0 6] 229/ Il FE 42 (5 F)15.58 50 1] 1837 fEWl2 CK #i)15. 23
[3] TIB# =322 (k & DEH 60 2] 1934 [l Bk 2 (& i) 15. 38
[ 4] 25310 M2 G b H)RIG 705] 13/mE & A2 (& ) 15. 65
[ 2] 139 EF WiEAs 2 (B A R db) R [ 4] 129/ A& Fv 2 (B EN L) Ri5
[3%H]) ( -2.0 m) [4%8] ( -2.2 m)
107] 239 v E#2 (b 2 4 £)13.70 103] 22Tk ™ #zF2 (3 = 8)14.27
20 8] 195 W H2(GE )14.23 20 8] 317/h8F AT 2 (F W ) 14.66
3[ 5] 2054k L #EPHE 2 (+ B T ¥5)14.30 30 7] 319C B 2 (8% =)14.73
47 2] 33EH Bx 12 (F ) 14. 90 40 5] 305MM H H #E2 (78 F)14.74
5041 177F W B B 2 Ok #6)15. 07 50 1] 311 AR £ P2 ( JR )15. 60
6[ 3] 2471 2 K B2 & ) 15. 60 6 4] 518K L2 (K J5)15. 62
701] 89# 4 T H2(H ¥ m)16.08 70 6] 1874 H & &2 1) 16. 10
(6] 1T BEE2((E o ®)RE [ 2] 2435 )| W2 G 7 IR RG
[5%#H]) ( -1.7 m) [6%H] ( -1.8 m)
12l 21 )11 ZH2 (G #HE H)13.59 106] 17368 K w2 (52 Fl £13.90
20 4] 291k B3y 2 (I HD14.72 20 5] 2498k = FHF AL 2 Ol F1)14. 55
3[ 8] 103 14N /1L 2 (78 W4T 3[ 2] 101 H =2 (e ) 14.59
A1 7] 161K w32 (K 1E)15. 11 47 1] 165%EH HHFEE 2 (B lii]) 14. 70
505] 223t8 v ##E2 (& 7= 1F H)15.14 5[0 4] 157\ K £ 2 (& R)14.78
6[ 110032 I & AE2 (B 3 == [E)15.62 6 8] 28154 MHEH 2 (kE )15.00
70 611001 )& [ & 1€ 2 (Hh KFfHfie) 15. 85 703] 1t E£P2 (&E 7)15. 37

8[ 3]

1515 &

%2 (EJEH 2)16.09

8[ 7]

NG 3522 (& 28 15,77



[74#2]) ( -0.2 m)

104] 2510 R k222 OS £ 5)13.98

20 1] 26378 (1 me AR 2 (% ) 14. 25
3[ 8] 23H (L =2 CGE H 14.30
A0 2] 1475 B = H2 W W H)14.76
507] 21y 3 Z2 (G #)15. 27
6[ 6] 309¢8% K = 2 (G 4%)15.90
703] 245995 = AFE2 (f JII PE)16.37

[ 5] 169 L R &2 (B8 & PNRIG
[9#8) ¢  -1.1 m)

10 5110173618 & 54E 2 (M & 4 7)14.28

20 2] 9 A mBefE2 (PR £ & H)14.31

3[ 3] 203%4 & & -2 (F (h)14.72
40 6] 14385 8 /g2 ( &=  )15.18
50 1] 69#F H ZF4K2 Ok [)15. 26
6[ 8] 255%F H 22 (F ) 15. 44
70 411015)11 ¥ 85 & 2 (U F 5 B) 15. 66

[ 7] 181Uy BE3eTh 2 (H & HBIRSG
[1148]) ( -2.5 m)

106] 201 ¥ 2 (& - M %914.03
2[ 8] 83WE WA 2 HEm A —)14.40

3[ 5] 293/ Eme2 (ff Fn H)14.57
AL 7] 315FE H w7 2 (K %) 14. 60
5[ 4] T75iC IR k2 (& Fg)16. 09
6[ 3] 261k H K2 (F £)16.09
70 2] 185FKA Z DXE 2 (& J5)17.04

4 AN
s 3

1 217 F 0 F 2 (Gl N)12.67 -2.9
2 2651LUH HIFx 2 (& H)13.37 -1.5
S 21 k)l HEH2(FE HE  H)13.59 -1.7
4 239 EW2 (b 2 H)13.70 2.0
5 1558 Jh =< F2 () H1)13.82 -2.0
6 1738 K 2 & F  £)13.90 -1.8
T 9 EI2 Gr £)13.92 2.0
8 251U kE205 A  15)13.98 -0.2
ZFHEBE 200m REE1£R)
[1£#8]) ( +1.1 m)

1041 119 F )1 # =2 G ) 27.12
20 6] N ERE M= HR 2 O B 23 ) 29. 27

3L 8] 798 K &2 (F )30. 59
47 1] 15985 K f& & 2 O i) 31.23
5[0 2] 305H wwdH 1 (18 %)32.16

6[ 3] 131 &1 (& 15)33. 93

[ 5] 16578 i & 2 (& i) 775

[ 7] 2471/ B AE1 (BB H) R 15

(8+8]
10 7]
2[ 5]
3[ 3]
4[ 6]

5[ 211013k jF
6 4110234 i

7 8]
8[ 1]

(10481 ¢ 1.1

1[ 8]
2[ 2]
31 3]
41 7]
5[ 6]
6 4]

[ 5]

(12481 ¢ -1.0

1[ 8]
2[ 2]
3[ 6]
41 7]
5[ 3]

[ 4]

[ 5]

[248]
1[ 6]
2[ 8]
30 1]
4[ 5]
5[ 4]
6[ 2]
70 7]
[ 3]

( -20 m)
1558 T = B2 ()
oty KIR2 (5F
1790 7 L2 CGor
2734 W = £ 2 (F

283714 )1
95 /& #a
m)

2138 B Jh2 OR
BT/ X L »2 (K
251%F ¥4 L BE 2 (FF
550K A 3 A2 (fb
NMKE WE2 (08
1270 11 B 2 (k=
K HE WE2CH

m)
AT 9D 2 Gl
1233t | Y fb2 (&
SHAM FEhE 2 CR
15950 Blx 52 OK
145 1.~ 4~ B 2 (i
29 fif AR MhEE 2 (fa
678k H & f 2 (k=

1

H
&
w

H)13. 82
F£)13.92
H)14.29
F)14.31

52 {2 (ffd = 5% [=)15. 05
3% [ 2 (s RO AT IR) 15. 41
aFH 2 08 K 45)15.64
N E 2 (Fd i B ) 16. 08

=) 14.16
Bo14.117
F4)14.57
)15, 14
JIN15. 96
fiE)16. 22
) R 355

) 14.57
IL1) 14. 60
) 14. 64
J#)15.99
£)16. 42
) Ri5

BN ) RiB

(  -0.1

m)

218 @2 (F E

IftE BT 2 (5F
2391k J 2 (b
1818 11 M2 (H
105 A 38 P2 (k
3074 A& X W1 (Fk
89E = M &2 (H
147/ A £ dT 2 (W

7)26. 91
J2)29. 49

2 43 13)31. 04

—+=
=
A
B

51
A

7)31.70
) 32. 05
[) 33. 02
F) 33. 51
) Ri5



[3%8] ( +1.9 m)
10 2] 750 bk ZFEd2 (B ) 27.78
2[ 1] 283F K #rik2 G 7 18)29.08
3[ 6] 227:& /% ¥ 1 (4 9 = %)30.09
4 8]10090 H % fE 2 (A ) 32.00
5[ 3] 1834 1 #E 32 (K 1) 32.13
6[ 4] TRk w1 OGS > JI)33.53
10 5] 267K K R H 2 (4 WiE) 34. 84
[ 7] 15T K B 72 (& W) Ri5
[5#8] (  +0.2 m)
102] 294 M #H:2 W 7)28. 09
2[ 4] 17348 )11 22 (38 Rl £30.09
3[ 6] 213/ H #HefE1 GE W J=)30.51
40 5] 127M i #EFE2 (= - Ji5)30. 67
5[ 8] 145 s FF ik 1 ([ +1)31. 20
6[ 1] 311k JII A &2 J&  )31.98
70 71 107#5H HEO1 & - H%)32.68
8[ 3] 249/ w7 ity & 1 (I 1) 34. 44
[748]) ( -0.5 m)
10 7] 2650 5 2F A& 2 (& ) 28. 31
2[ 6] 193@ 18 2% 12 (& ) 29. 30
3[ 8] 139 ik FiHi2 (£ A R 1b)29. 96
41 3] 255k 7 B3 3E2 (R 1) 30. 12
50 2] 29135 ¢ W & 2 (I H)31.10
6[ 5] 6781 M  H 1 (H-mE2 E)32.72

70 1]10215 |

8[ 4]

(98]
1[ 2]
2[ 3]
3[ 5]
4[ 4]
5[ 7]
6[ 8]
[ 1]
[ 6]

(1148] (

1L 8]
2[ 6]
3[ 4]
41 7]
5[ 3]
6[ 5]
10 2]

18574 Hf
( -1.2
315 H R
128 i
91F H
1n&E ®K
313
9JI| &
69 H
617L I

BE &
169 B K
273%9 Hh
261 5 #6
283 &
263 2 I
151k H

+0. 1

¥ Ml 1 ()1 %2 () 36. 19

W32 (%
m)

X =2 OR

AR

i 1L 2 G
%2 (A

11 (P

(Y =

HE 2 Ok
WA 2 CF
m)
b5 1f1 2 (i
£ &2 (A
#1752 (OF
Kl (7
Hi %€ 1 (A
D2 (2

H
i

&

ZS

Ji0) 40. 95

#7)28. 81
) 29. 04
1) 30. 01
72)31. 21
) 31. 26
47)31.95
M) R 15

H) R 15

H)27.78
R 30. 01
7)30. 42
%) 30. 92
45)33. 19
fi]) 33. 48

a1 (Rt A —)33.73

[4%8] ( +1.5 m)
101] 2005 Ea2 Gk - | &)27.12
2[ 4] 83VE I #F&x2 (M —)28. 84
3[ 7] 203 B 5 Fj2 (b [11)29. 16
AL 3] 975F B B AL CA i) 30. 69
50 2] 95763 AEPEZ 1 (FF & Mt J8)31. 49
6[ 8] 77N LyEE2 (L Kk 431,81
70 6] 155%  — FE2 Uh H)35.17
[ 5] 309/A & £ #1 (#E ) Ri5
[(648] ( 0.0 m)
10 2] 21tk @ AE Jh 2 (K #2)27. 36
20 4] 1M938 & L %1 (7 % 2 [1)29.43
3[ 3] 259K M HE %1 (K 1F) 30. 01
41 1]1003%2 A& #F 22 (B3 | 5 Pe)31.52
5[ 8] 123HIP Z &4l (& & 11)31.73
6[ 5] 101t ik H &2 (= H)37.13
[ 6] 3037k Il 31 (K W) 15
[ 7] 25 H A2 OS A B KRS
[8#8)] (  -0.1 m)
1010 217 J11 #E2 (b ) 28. 03
2[ 4] 281/ ks E 82 (B +)30.97
3L 8] 31%21 1FDH 2 (§f %)31.58
4[ 5] 251 HiEH &1 (FF B F9)31.86
503] 3017 H L 22 (W F A #)32.29
6[ 6] 161& F 52 (K 14)32. 49

70 2110337 Bl ¥R % 1 (A ¢ [E B)32.56
[ 71101345 3 .0 322 (15 2 B 1%

(1048] ( -0.6 m)
107] TG H K2 (K ¥029.77
2[ 3] 187 R & weLr1 (8 7)30. 06
3f2] 51l ALK 55)31.51
AL8] 15+ TH1WHE -7 %)34.10
5[ 4] 5B w2 CR #)34. 46
6[ 6] 129 %y JE A5 1 (B9Aiv 28 ) 35. 91
[ 5] 245t 1 T HE1 (f JII 78)RiF
4> AN
s
1T 21/h% @Ef2 (F E  H)26.91 -
2 2001 & AR (- B OA)27.12 +
S AT9T I #F2 G H)27.12 +
4 21k W AE )52 (BK #£)27. 36
5 75 b K2 (& 7)27.78 +
6 BEE Bm2(E [H)27.78 +
1 2174 1| A 2 (b N)28.03 -
8 295 MW A OH2 M A)28.09 +

0.1
1.5
1.1
0.0
1.9
0.1

1

0.
0.2



ZF 14 80 0m R (44R)

[1#8]

1[03] 2658k N 1 (& M)2:30.28 12[ 9] 79 j& Bt H 1 (4 T)2:53.20
20 8] 1273 #5 #wE1 (= - fH)2:39.62  13[14] 9Bfex K BHE1 (7 & M JE)2:54. 40
3[ 5] 24585 K AL Jy1 (ff )1l PE)2:41.96  14[16] 1313 i ZEHE | (5 15)2:54. 83
4710] 994 F Fr 31 (& + & )2:42.33  15[17] 119K B #fn1 (F 2 » [m)2:54.88
5[0 7] 213— & 2£1 CGE ¥ 5)2:43.86  16[21]110217E 3%  # & 1 (Fh2s)1122E) 2:56. 00
6[ 6] 1mEmH HF1 G %)2:43.88  17[15] T1HE L 3E1 085 > JI)2:58.24
70 1] 193K H 41 (& H)2:44.66  18[20]1017 Kk PREE v 1 (8 E & +)2:58. 32
8[ 2] 217751 BAZESR 1 (1L MN)2:45.87  19[12] 67% 7k HEE 1 (- 55 [1)3:02. 46
9[13] 201#8 A 5 A 1 (= - H £)2:48.37  20[19] 2497 Hy =10l F1)3:09. 45
10[18] 3054H J& Fijar 1 (78 %)2:51.23 [ 4] B1EME B 1 (K &) Ri5
1] 22746 I & &F 1 (3 3 = %7)2:52.96

[248]

1[05] 47TH S X721 @ R H)2:29.24  12[15] 2115 i N £ 1 Gk #)3:03. 25
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